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Adding and Subtracting Inequalities Homework

1.) ENTERTAINMENT: David and Marsha are going to dinner and a movie this evening. David wants to have at least $70 cash in his wallet. He currently has $10. 

a.) Create an inequality sentence and explain why you chose the inequality symbol for the algebraic sentence
b.) Solve the inequality – Show all work

c.) Explain the process you used to solve the inequality using proper math vocabulary

d.) Graph the Inequality on a number line

2.) ERROR ANALYSIS: Rose solved the one step-inequality below on her quiz and graphed her solution on the number line.  When she got her quiz back, the teacher gave her 0 points out of 3 for her graph.  

a. Explain what mistake(s) Rose made while graphing

b. Graph the inequality correctly.  
7 ≤ x + 4
                                             -4          -4  

                                              3 ≤ x

	3.) How is 
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 % written as a percent in decimal form?

a. 
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b. 
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c. 
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d. 
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	4.) Jewel uses 1/8 lb of cheese to make a sandwich in the cafeteria where she works.  She purchases a 5 lb block of cheese earlier that week and has already used 1 ¾ lb from the block.  Which equation could be used to find n, the number of sandwiches that Jewel could make from the remaining cheese?

a. 8n + 1¾ = 5

b. 8n - 1¾ = 5

c. 
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 n + 1¾ = 5

d.  
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n - 1¾ = 5
	5.) The numerical expression 
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 is equal to
a. ½

b. -½

c. -1

d. 
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